SECONDARY SCHOOL EXAMINATION-2025
HTeGfHeh Thol URIE—2025

( ANNUAL / @i )
Subject:—- ADVANCED MATHEMATICS ( OPT. )

favg— Sz g ( Ufe® )

BT T 1 100+30+8 = 138 fawg s : 114
Total Questions : 100+30+8 = 138 Subject Code : 114
(999 : 3 °c 15 e ) ( qurieR:100 )
[Time : 3 Hours 15 Minutes] [Full Marks:100]

Instructions for the candidates:

1.

gvgeffl OMR GT¥ YF% GV U] H97 YRasdr &A% (10 Bl &]) ST9F
fordd |

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.

geIETell JeTTHT 37U Il 4 & FV &/

Candidates are required to give their answers in their own words as far as
practicable.

gIfe1 S7Iv ER/ 9% 3% §V 8% quiieE [lee #vd &
Figures in the right hand margin indicate full marks.

eI @I 17 YdE YgT P Iy 15 TS BT ST THT Q97 T & )

An extra time of 15 minutes has been allotted for the candidates to read the

questions carefully.

T8 HoT GRadT & @vsl 4 & — @ve—3 V9 Gue—q |
This question booklet is divided into two sections- SECTION-A and
SECTION-B

GUS—3] H 100 TGl F¥7 & [or7H & Pdel 50 FI BT & G¥ & 791
&/ 50 W 3ifElp Fo] P OV G G¥ FeIH 50- G BT &1 HoAIBT [T AT/
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T&% F97 & [or7 1 3& [T &/ §7%7 Wal S% &l Iyeie] & T
OMR SV 3% # 189 T wel fadbeq &I Hat/&ict §icT 97 & TIIE HY/
14T ) g% B FTSTTY,/ TV YaTel /1S, TRGT 311 BT OMR FTiv—Yleaasr
H JIRT BV FATE 3T GAHET TR FHIT 81T/

In SECTION-A, there are 100 objective type questions, out of which any 50
questions are to be answered. First 50 answers will be evaluated in case more

than 50 questions are answered. Each question carries 1 mark. For answering
these darken the circle with blue/black ball pen against the correct option on
the OMR Answer Sheet provided to you. Do not use whitener/liquid/blade/nail
etc. on OMR sheet otherwise the result will be treated invalid.

. GUS—§ H 30 &Y FANT FIT &, for7H W [de] 15 Fe BT GV G
8 I% 79T P oy 2 3F [FERa & 37@ sfaRaT 37 @ve ¥ 8 Je
FTIT Fo7 177 79 & [or7H F 18] 4 7 BT GV G & FAB HIT P
forg 5 31 [FEiRa &/

In SECTION-B, there are 30 short answer type questions, out of which any 15
questions are to be answered. Each question carries 2 marks. Apart from
these, there are 8 long answer type questions, out of which any 4 questions are
to be answered. Each question carries 5 marks.

. [ gBIY @ FATCIES FUBYT BT FIIT QUTAT aroid &/

Use of any electronic appliances is strictly prohibited.
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us — 3/ SECTION-A
JEIfTS Ue / Objective Type Questions

To7 GET 1 & 100 GF & F57 & & TV 1357 130 70 & for7% & v w&
g/ 18T 50 7o & v YT T g7 U @& [dBy & OMR e gv
fafeaa &Y/ 50x1 =250

Questions nos. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your selected option on the OMR-

sheet. 50x1=250
1. T 91& | BT ST A9 BT B
(A) 90°%180° (B) 180°<¥270°
(C) 270°% 360° (D) 0°% 90°
The value of angle in third quadrant is
(A) 90°to 180° (B) 180°to 270°
(C) 270° to 360° (D) 09to90°
2. 135% & wEReIT Bl B A &
(A) 225° (B) 315°
(C) 405° (D) 495°
The value of co-terminal angles of 135° is
(A) 225° (B) 315°
(C) 405° (D) 495°
3. gwaﬁw &1 94 &0 # g @
(A) 18° (B) 36°
(C) 54° (D) 72°

The value of g right angle in degree is
(A) 18° (B) 36°
(C) 54° (D) 72°

() -
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(A) 150 (B) 550

(©) 75° (D) 115°

. Ife T AHagYST BT Ush df2wpor 450 81 ol YoTall o1 Gwer sifl
(A) 5 (B) 6
< 7 D) 8

If 459 be an exterior angle of a regular polygon then the number of sides

will be

(A) 5 (B) 6
< 7 (D) 8
LT B IS IR H AE TS H B B

(A) 509 (B) 1004

(C) 909 (D) 1204

The value of each and every exterior angle of a square in grade is
(A) 509 (B) 1004

(C) 909 (D) 1204

I r o ared fdl 91 & A" gRT @ OR SF=AiRd BHIoT § B ol

o\

roaEve & &9%d ©

nr2e nr2e
(A) 3600 (B) 1809
2nré 2nro
(C) 3609 (D) 1800

If 8 be the angle subtended by an arc at the centre of a circle having

radius r then area of the sector is

re re
(A) 3600 (B) 1809
27ré 27ro
(C) 3600 (D) 1800
. 1359 o1 e & 99 2
“a = B) =

12 12
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© = o) =

The value of 135° in radian will be

@ = ®) =

© = D) =
. 759 1 XRew # WA €T @

A = B) =

A = © =

The value of 759 in radian is

@& = B) =

© = o =

8

 gfe 7 I B arel g @ 99.@r e 11 99 gL ar Breeaes
BT B1F BT BT

(A) 45° (B) 600

(©) 90° (D) 120°

If 11cm be the length of the arc of a sector having radius 7c¢m then

central angle of the sector will be

(A) 45° (B) 60°

(C) 90° (D) 120°

[ifdRd | 9 qrRemiRIT e & MR wY Bl SR &7

(A) (mm-1m+1) (B) (m3m?-1,m?+1)
(C) (@mm?-1m?+1) (D) STH 9 DI A8l
Which one of the following represents the general form of Pythagorean
triplet?

(A) (mm-—-1m+1) (B) (m3m?—-1m?+1)
(C©) (@Cmm?2—-1,m?+1) (D)  None of these
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12. tan@ =

A ®) -
© = (D) g
13. tanf &1 Ghd &
(A) secH (B) cosec
(C) sind (D) cotO
Reciprocal of tan8 is
(A) secH (B) cosecH
(C) sind (D) cotO
14. IS tanh = 274 ar sinf &1 A &—
A) % ® =
© = D) =
If tanf = ? then the value of sin8 is
A) % B 5
© = D) =
15.9f¢ tand =cotf , AT O BT A9 IS H ©
(A) 259 (B) 509
(C) 759 (D) 1004
If tan@ = cot@ then the value of 8 in grade is
(A) 259 (B) 509
(C) 759 (D) 1004
tan29° _
“cot61°
(A) oo B) 0
© -1 D) 1
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17.f=1ifpd & tand - cotd BT AT fhdd SRR 81 27

(A) sec? —tan?0 (B) cosec? 8 — cot? 6

(C) cos?8 —sin? 0 (D) sin?8 + cos?0

Which one of the following is not equal to tan - cot8 ?

(A) sec? —tan?0 (B) cosec? 8 — cot? 6

(C) cos?8 —sin?0 (D) sin?6 + cos?6
18. 555 * g 71 7T B

(A) sin6 cosf (B) sinf secf

(C) cosecO cos b (D) secB cosecef

sin@ coso .

The value of + —

cos6 sin@
(A) sin 6 cosf (B) sinf secl
(C) cosecHcosB (D) secB cosecef

19.f7=ifpd & cosec*d — cot*@ b IR Ll ©

(A) cosec?0 + cot? 6 (B) 1+ 2cot?0
(C) 1-—2cosec?8 (D) 2cosec?—1
Which one of the following is not equal to cosec*8 — cot* 6?2
(A) cosec?0 + cot? 6 (B) 1+ 2cot?6
(C) 1—2cosec?8 (D) 2cosec?—1

20.fA ST @& PIT 3:4:5 & AU H &, O AIA I BT BT A

Afega ¥ 2
NI B) =
© = D) =

12
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The angles of a triangle are in the ratio of 3 : 4 : 5 then the value of the

greatest angle in radian is

2T 3T
A = B) =
5 7
© = D) =
21.tan75° =
(A) —2-+3 (B) —2++3
(C) 2-+3 D) 2++3
22.tan20 =
2tanf 2tanf
(A) 1-tanZ2 @ (B) 1+tanZ @
1—tan2 6 1+tan2 0
(C) 2tané@ (D) 2tané
23.tan0° tan1%tan2° ...tan89° =
A) -1 B) 1
© =1 (D) 0
24.5in0 - cosO - tanb - cosecH - secO - cotl =
A) 0 B) 1
< 2 (D) 3
25.cos(m+ 0) =
(A) —sinf (B) sin6
(C) —cosB (D) cos6
26.tan(A+ B+ C) =
A tanA+tanB+tan tanB tanC
( ) 1+tanAtan B+ta tanC+tancC tanA
B tanA+tanB+tan tanB tanC
( ) 1-tanAtan B—ta tanC—-tan tanA
C tanA tanB tanC—-tanA—-tanB—-tanC
( ) 1-tanAtan B—tanB tanC—tanC tanA
(D) tanA+tanB+tanC—tanA tanB tanC

1+tanAtan B+t tanC+tanC tanA
27.cos(A+ B) +cos(A—B) =
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(A) 2sinA cosB
(C) 2sinAsinB

28.tan5—ﬂ=
6

A

\/_

© -*

29.(tanA + cotA)? =
(A) tan?A+ cot?A
(C) sec? A+ cosec?A

30.sec30%osec45%cot60°

22
A —
23
© 5
31.tan24 =
2tanA
(A) 1+tan? A
2tan
(C) 1-tan2 A
32.sin36° =
V5-1
A =
(©) V10-2v5
4
33.cosC =
a%+b2—c?
(A) 2abc
a?+b%—c?
(C) 2ab

tan45°-cot45°

‘tan45%+cot ©
A) 2
© 0

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

2cosA sinB

2cosA cosB

-

tan® A — cot® A

1

2V2
3
3

22

1-tanZ? 4
1+tan2 A

1+tan? A
1-tan2 A

\V5+1

4

V1042v5

4

b%+c?-a?
2bc
2ab

a2+b2-c?

Page 9 of 30



35.tan34 =

3tandA—tan3 A
1-3ta 24

(A)

3tand—tan3 A
1+3ta 24

©)
10
36.tan225 =

@) (Vz+2)

© V2+1
37.tanA =
A 2tans
( ) 1—tan2§
C 1—tanzg
( ) 1+tan2§
sin? 6-1
38. cos2f
A) 0
© 1

39.&%% = 4547 sind + cosO T 9 B
A) 1
© -

(B)
(D)

(B)

(D)

(B)

(D)

(B)
(D)

(B)
(D)

Ifg = 459 then the value of sinf + cosé is

A) 1
<© -1
40.sec? 60° + cosec?30° =
A) 2
© 38
41.\/i::;;‘; -
(A) secé

(B)
(D)

(B)
(D)

(B)

3tanA+tan3 A

1+3ta 24

3tanA+tan3 A

1-3tan? A

V2-1
W22

A
2 tan;

A
1+tan25

A
1+tan25

A
- 22
1—-tan 2

4
16

cosec 6

Page 10 of 30



(C) cotb (D) tan#6
42 3¢ cosec 0 = 2 AT tan B + cot O &T 714 ©

V3 4
A) B) 3
< 2 (D) 0
If cosec 8 = 2 then the value of tan 8 + cot@ is

V3 il
A - B 3
< 2 D) 0

43.af¢ 13sinf = 12 @ cotf &1 74 8

12 5
Aa) 2 ® =

13 5
© = o =
If 13 sin 8 = 12 then the value of cot 8 is

12 5
A — B) -

13 5
© = o =

44.c0573%0s17° — sin73°%sin17° &1 A9 BT

A) -1 B) 0
(©) 1 (D) =1

The value of cos73%c0s17° — sin73%sin17° will be

A) -1 B 0

< 1 (D) =1
45.tan150° =

*) = B -=

C) 3 (D) —V3
46.3f tand = cot¥ @ A1 &I A9 &—

(A) 900 — (B) W—90°

(C) 900+ W (D) E9H ¥ BIg TE
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If tanAd = cotW then the value of 14 is

(A) 900 —y (B) W—90°
(C) 90°+w (D) None of these

47.cos40° + co0s20° =

(A) /3 sin10° (B) /3 cos10°
(C) 2 sin10° (D) V2 cos10°
48.530151 @1 AT U AR Bl b argura # o o=l €7
(A) 1:2 (B) 2:1
) 2:3 (D) 3:2

In which ratio does intersect the medians of a triangle to each other?

(A) 1:2 (B) 2:1
(C) 2:3 (D) 3:2
49.tan§ =

(S-a)(§—¢) (S b)(S 9)
(A) \/S(S—a)

S(S-a) S(S—a)
©) \/T \/(s b)(S—c)

50.9fC y = 6 = 45° & @I tany + tand A9 B8NT—

A 0 B) 1

© 2 D) =

Ify = & = 45° then the value of tany + tand will be
(A) 0 B) 1

©) 2 D) =

51.5r9 @1 AftawRl & wer g HEard 2

(A) STd= (B) =&
(C) W= (D) uR®=

The point of concurrency of the medians of a triangle is known as
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(A) incentre (B) orthocentre
(C) centroid (D) circumcentre

52.9f¢ T FedleR Hidl & TR Bl Sl Idg W TS dloll ST BT
DI S D % T B, AT g BT [T BIT BT

(A) 300 (B) 450
(C) 600 (D) 750

If the height of a vertical mile stone is % times of the length of its shadow

V3

on the ground, the angle of elevation of the sun is

(A) 30° (B) 45°
(C) 60° (D) 75°
53af@ A+ B+ C=mdlcos(C+A) =
(A) cosB (B) —cosB
(©) sinB (D) —sinB
If A+ B+ C = m then cos(C + A) =
(A) cosB (B) —cosB
(C) sinB (D) —sinB
54.af¢ AABC ®§ b =53 9, ¢ =59 d1 B = 120°@T € &7 919 ¥
(A) 15° (B) 300
(C) 60° (D) 75°
Ifin A ABC, b = 5v/3cm, ¢ = 5cm and B = 120° then the value of C is
(A) 15° (B) 300
(C) 60° (D) 75°
55.cos(270° + 0) =
(A) —cosé (B) cos#@
(C) —sinéd (D) sin®

56.cos(A —B) —cos(A+B) =
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(A) 2cosA cosB (B) 2sinAsinB

(C) 2sinAcosB (D) 2cosAsinB
57.200° for agafer # Rera 22

(A)  weH (B) feci

©) T (D) =g

In which quadrant does 200° lie?

(A) first (B) second

(C) third (D) fourth
58.sec(—0) =

(A) —secH (B) secH

(C) cosecH (D) —cosec8
59.9f% sinf = — STt 6,180° 3R 360° F 9 &, A 6 BT AT EW

(A) 210°330° (B) 150°,330°

(C)  210°,150° (D) E9H ¥ BIg T

If sinf = —% where 0 lies between 180° and 360°, then the value of 6

will be

(A) 210°,3300 (B) 150°,330°

(C) 210°150° (D) None of these
60. If& sin36 = cos36 B AT O BT A9 ©

A) 7%0 (B) 15°

©) 9710 (D) 30°

(A) 210 (B) 15°

© 22% (D) 30°
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61.7g (x,0) @2 (0,y) & dra @t & 8-

(A) fx?—y? B) x+y

©) x?+y? D) Jx-y

Distance between the points (x, 0) and (0, y) is

(&) x2—y? B) Jx+y

© x?+y? D) Jx-y
62. fag (13,—22) f&a =egater # Rera &7

(A)  TeH (B) feci

(©) T (D) =g

In which quadrant does the point (13, —22) lie?

(A) first (B) second

(C) third (D) fourth
63.f4g (—2,—5) H BIfC &1 AF &7

(A) -2 B) 2

< -5 D)y 5

The value of ordinate in the point (—2,—5) is

A) 2 B) 2
© -5 D) 5

64.05 (I, m) ¥ 41 &7 719 27

A B) I
(C) +m D) m
Value of abscissa in the point (I, m) is

(A) V1 (B) I
(C) +m D) m
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65.9e fag 9 a5 (34) & .8
A) 3 (B) 4
<€ 7 D) 5

Distance of the point (3,4) from the origin is

A) 3 B) 4
© 7 D) 5
66.<17 fag0 UPpRRIH Peelld & Ffe ST a1 ST &I &hel BN
(A) FUTHD B) I
(€) TP (D) ETH & Bl T

Three points are said to be collinear if the area of the triangle so formed

will be

(A) negative (B) zero

(C) positive (D) none of these
67. 2t (12,0),(0,0)T (0,35) & & Byt &1 uRfafa 2

(A) 473918 (B) 373

(C) 843garg (D) 94 &S

Perimeter of the triangle formed having vertices (12,0), (0,0) and

(0,35) is

(A) 47 units (B) 37 units

(C) 84 units (D) 94 units
68.3M8f (2,1),(4,5) @ (0,3) ¥ & S &1 &% &—

(A) 4 3 g% (B) 6 @ TE

(C) o T HT8 (D) 12 o gBIE

Area of the triangle formed having vertices (2, 1), (4,5) and (0, 3) is

(A) 4 sq.units (B) 6 sq.units
(©) 9sq.units (D) 12 sq.units
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69.y-31eT TR Rerd g8 fa=g Sl fdvgail (6, 5) dAT (—4, 3) | AR
A (90 B) (0,9
© (0,3 D) (0,6)
The point on y-axis which is equidistant from the points (6,5) and
(—4,3) is
Ay (9,0 B) (0,9
© (0,3) (D) (0,6)
70.f5 99 & AN @ R & Fcene 2,3) 91 (6,7) 8, AT g0 & b b
IRENIEAIE
A) (5,13) B) (810)
© &5) O G4
The co-ordinates of the ends of diameter of a circle be (2,3) and (6,7)
then the co-ordinates of centre of the circle will be
A)  (5,13) B) (8,10)
© &5) O G4
71. fa=gatl (4, —3) T (9, 7) BT AT Y@RIVS Bl 3:22 & AU H
sfRfad B A g & frdene
A (7.3) B) G7)
©  G7) D (7.5)
Co-ordinates of the point dividing internally the line segment joining the
points (4, —3) and (9, 7) in the ratio 3 : 2 are
A (7.3) B) G7)
© 67 D) (7.5)
721875311 (-5, 4) 3R (7.—8) BT MAATAT YREgvE & 7 fog & Fcwn®
g
A (-1-2) B) (-12)
© (1,-2) D (12)
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Co-ordinates of the mid point of the line segment joining the points

(=5,4) and (7,—8) are

@A) (-1,-2) B) (-1,2)
© (1,-2) D) (1,2)
73.afQ fa=gelt (2,3), (5, k) T (6,7) VaxRaw & o1 k A &8RM
A) 6 B) 3
© 2 (D) 4

If the points (2, 3), (5, k) and (6, 7) are collinear then the value of k will
be

(A) 6 (B) 3
© 2 (D) 4

7418731 (2, 3) TAT (7, 8) B! AT X@RgvS & fag (4, 5) fa
Ut H favad &Rl 27
(A) 3:2 B) 2:3
) 1:2 (D) 3:4
In which ratio does the point (4, 5) intersect the line segment joining the

points (2,3) and (7, 8)?

(A) 3:2 B) 2:3

) 1:2 (D) 3:4
75.3af¢ fa=5¢ (1,2),(0,0) T2 (x,y) UdrRad &

(A) x=y B) 2x=y

C) y=2x D) xy=10

If the points (1,2), (0,0) and (x, y) are collinear then

(A) x=y (B) 2x=y

C) y=2x D) xy=10
76,9091 (1,2), (3,4) TAT (21) ¥ I YT fFH THR BT &7

(A) waTg (B) Wz
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(C) fawwarg (D) HH®BI
Which kind of the triangle is formed having vertices (1, 2), (3,4) and
(2,1)?

(A) equilateral (B) isosceles
(C) scalene (D) right angled
77758 (k,1),(1,—1) TAT (11,4) WG €, AT k BT A BT
(A) 5 (B) 4
© 3 (D) 2
Points (k, 1), (1,—1) and (11, 4) are collinear then the value of k will be
(A) 5 (B) 4
<€ 3 D) 2
7831t (1,4/3), (0,0) TAT(2,0) & 97 BT & s & Mad &
@ (13) ® (%)
© (G2 ® (L3)

Co-ordinates of incentre of the triangle formed having vertices (1, \/5),
(0,0) and (2,0) are

» (13) ® (3

© 9 ()
79. fa=gait (a,b) @ (gg)a%eﬁaa%zga%

(A) Va?+b? B) @

©) @ (D) @

Distance between the points (a, b) and (gg) is

(A) Va? +b? ®) VaZ+b?
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(© Y ) Y

80. fa=gall (xq, 1) TAT (xp,¥,) BT AT aTel WERGUS Bl m:n &
Jgura H dfevid wU I A9ad B drell fd=g &1 dIfe g—

mx,—nxq my;—nyx

(A — = B —
mx, +nx1 my-, +ny1

(C) m+n (D) m+n

Ordinate of the point of the line segment joining the points (x;,y;) and

(x5, y,) intersecting externally in the ration m: n is

w o
© M o
81.cos560 — cos960 =
(A) 2co0s70 cos20 (B) 2sin70 sin26
(C) 2co0s70 sin20 (D) 2sin760 cos260
82.fr=ifdd # faat 9 @I & WER T8 27?
(A) sinf cosect (B) sinf cos6
(C) cos0O secH (D) tan@ cotf
Which of the following is not equal to unity?
(A) sin6 cosecH (B) sinf cos6O
(C) cos0O secH (D) tan@ cotf
83.cotl =
(A) sin’d (B) —m
Vi-c 26 Vi-sinZ @
(C) VI—cos?d (D) Vi—sin?8
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84.FADIVN ST , MR IR gl foTde |rer Fafia $Ivr O 991 &,
HEATI &7
(A)  EfgHSTD (B) wleAeDT
(ORI (D) @
In a right angled triangle, base and the side together with which form
reference angle 6, is said to be
(A) bisector (B) median
(C)  hypotenuse (D) perpendicular

85. Tl TwapIoT ot #, JfQ o, JMER qAT BT HA: p, b TAT h B oI
h=

(A) /p?—b? (B) /b%—p?
(C) p?*+b? (D) (p+b)?

In a right angled triangle, if perpendicular, base and hypotenuse are p, b

and h respectively then h =

(A) p*—Db? (B) b*—p?
© p*+b? (D) (p+b)?
86.af% tand == tan26 FT A &
24 24
(A — B) —-=
© 5 D) -

24
If tanf = gthen the value of tan26 is

24 24

A) = ®B) -=
© = D) -
87.59° & TR HIVT HT A ©

(A) 149° (B) 121°
(C) 301° (D) 319
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The value of complementary.angle of 59° is

(A) 149° (B) 121°
(C) 301° (D) 31°
88.fdT ST @& YIrsll & TTHITS SHHT: 18, 24 TAT 30 HHI B AT IH®I
&3l B
(A) 21697 (B) 256%HP
(C) 196 w12 (D) 212 JHP?
The length of the sides of a triangle are 18,24 and 30 cm respectively
then its area will be
(A) 216 cm? (B) 256 cm?
(C) 196 cm? (D) 212 cm?

89.31< sech + tand +1 =0 d secd = tanf =
A) -1 B) 1
<© 0 (D) 2

If secO + tanf + 1 = 0 then secf — tanf =

A -1 B) 1
< o0 D)y 2
90. THTT # IS Y YT &l SR Bl 0T fhd w9 # Bt 27
(A) Pl (B) MR
(C) < (D) T A BIS T
The concept of kite string flying in the sky is considered to be in which
form?
(A) Hypotenuse (B) Base
(C) Perpendicular (D) None of these
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91.9:00 Io1 BT & fc P g AT °C B Jg & 41 B DIV BT

(A) 3600
(C) 90°

(B)
(D)

180°
270°

The angle between the minute and hour hands of a clock 9 o'clock will

be
(A) 360°
(C) 90°

92. tanb + cotf =
(A) secB — cosecO

(C) secO cosecH

93. Sl AABC H ¢ 8T 19 A1 Yot fFrfud grfl?

(A) CA
(C) AB

In AABC which side is represented by ¢?

(A) CA
(C) AB
94.tan 22 =

2

b—c A

(A) e COtE

c—a B

(C) E COtE

953 xcos @ = a TN y = atand o x* —y? =

(A) a
©

Q|r

If xcos @ = a and y = a tan@ then x> — y? =

(A) a

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)

180°
270°

secO + cosecO

secO

cosecO

BC
AB +BC + CA

BC
AB +BC + CA
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1 1
© - D) =
96.sec69° — cosec21° =
A) -1 (B) 0
< 1 (D) 2
97.af% - == Bl SR RS Fufd & Borvawy g
a+b c+d a+b c+d
A = B) “2==¢
) 2=c2 (D) None of these
b d
If % = 2 then after applying componendo and dividendo it reduces to
a+b c+d a+b c+d
B = (B) T2=28
) =22 (D)  None of these
b d

98.afC A+ B+ C = dl tanA + tanB ¥ tanC =

(A)

(C) tanAtanB tanC (D) tanA tanB + tanB tanC + tanC tanA

(B) tanA — tanB — tanC
tanA tanB tanC

If A+ B + C = m then tanA + tanB + tanC =

1
tanA tanB tanC

(A) (B) tanA — tanB — tanC

(C) tanA tanB tanC (D) tanA tanB + tanB tanC + tanC tanA

99. 0 BT g8 A S FHIDHRYT tan 40 = cot20 Bl A BT &, BT
(A) 210 (B) 15°
2

(C) 18° (D) 22%0

The value of 6 satisfying the equation tan 46 = cot26 will be

Ay 7% (B) 150
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0
(D) 22

100. \/1+cosA —
1—cosA

(A) tanZ (B) cotZ

(©) sec% (D) cosec%

@vs—9 / SECTION-B
org Swhig ue= / Short Answer Type Questions

Fo7 W& 1 W 30 G& &g ST & | §7H & [78] 15 7o & % 7/ AP
757 & fory 2 3 [T 8/ 15 x 2 =30

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions. Each

question carries 2 marks. 15x2 =30

1. g aX $ 420°,1140° T21—1380° FHReT P17 & |
Prove that 420°,1140° and —1380° are co-terminal angles.

2. wﬁﬁaaﬂ@ﬁm(%)c T GERT BIOT 809 & AT AR BIOT
A ST 7 91 AN |
An angle of a triangle is (%)C and another angle be 809 then find the

value of third angle in degree.

3. {5l BT & GRE BT HT A IABT AR &1 Al BT A Tt |
The value of complementary angle of an angle is half of the angle then

find its value.

4, Hﬁ{secez%ﬁcote BT H9 ST BN |

If secO = % then find the value of cot6.

5. afs FRagSt @ fa®mol &1 dars 12 9 3R 16 9T 81 A1 39
TP Yl DI AdTg AT DN |
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If the length of the diagonals of a rhombus are 12 ¢cm and 16 cm then
find the length of its each side.

6.memwm(g)cﬁaﬁgweﬁaﬁmaﬁaﬁl

C
Exterior angle of a regular polygon be (%) then find the number of

sides.

7. 72 f&¥lo /€T BT Hiex /AhS H Fac |
Convert 72km/hr into m/sec.

8. wHfgarg S &1 2NY BIo7 96° BT Al AR WR & BHIVT BT AF =AM
Eadl

Vertex angle of an isosceles triangle be 96° then find the value of the

base angles.

9 ﬁ Ebﬁ ﬁi sinA+sin tanA:B

cosA+cosB o
SinA+sinB A+B
Prove that — = tan—
cosA+cos 2
. sin@ 0
10.R1g & & = tan=
1+cos6 2
sin@ 0
Prove that = tan—
1+cos@ 2

11. cosec 1500 T A ST BN |

Find the value of cosec 150°.
lz.wﬁrﬂwmwaﬁm(g)cﬁawwaﬁw 75° % 1 IR DI B
g Is H 9ard |

C
One angle of a triangle be (E) and another angle is 75° then find the

measure of third angle in grade.

13.39f¢ x = asing T y = bcosO T x,y,a TAT b H HaeT WMUT PN |
If x = asinf and y = bcos6 then establish a relation among x, y, a
and b.

14. 9191 f@Tet (1 — sinB)(1 + sinf)(1-+ tan? 6)
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Evaluate (1 — sinf)(1 +.sinf)(1 + tan? 9).
151530 St &1 &1 YTl &1 g HA: 5 WA TAT 12 JHT BT AT
Id d1F BT DIV Yeb AHADIVN B AT IA ST BT &Fh AT X |

Length of two sides of a triangle are 5 cm and 12 ¢m respectively and

the angle between them is a right angle then find the area of the
triangle.

16. 9 AABCH a = 13#, b = V330 T A = 3001 B &7 44
frepred |
Ifin AABC a = 1 ¢cm, b = /3 cm and A = 30° then find value of B.

17. sinb + cosO &1 989 919 Habred |

Find the maximum value of sinf + cos@6.

. 14+cos 1
18.R1g a f& =——1.
1—cos sin2 0
14+cos 1
Prove that =———-1
1—cos sin< 0

19. tan36 &I tanh UGT H ad B |
Express tan36 in terms of tanf.

20.fHET ST & BIT 2:3:4 & U H €, AT drd dlel BIVT Bl A
NSRRI ESISECAY

The angles of a triangle are in the ratio of 2 : 3 : 4 then find the value

of the middle angle in radian.

21,9 TP 12 Ho I W P Gdg W TS dTell BRI B TS 413
o B, A1 GI & IIF BT ST DN |
If a pole 12 m high casts a shadow 4v/3 m long on the ground then

find the sun’s elevation.

22.37f¢ sinA +sin? A =1 @ cos? A + cos* A &1 719 HapTed |

If sinA + sin? A = 1 then find the value of cos? A + cos* A.
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23.af¢ x = asin + bcosf TAT y = acosd — bsind AT x? + y? &1
A HeTed |
If x = asin 8 + bcosf and y = acos6 — bsin6 then find the value of
x? + y2.

24.15 o T Ush WGl TR & A1 600 BT DIV I &, df Fg 3
I fdvg BT SHATg o BN, Siel A AR Pl W HRell ¢ |
A ladder 15 m long makes an angle of 60° with the wall then find the

height of the point, where the ladder touches the wall.
25.%9T (8, 0), (5, 0) AR (8, 4) dTel ST HT &=he [IbTed |
Find the area of a triangle having vertices (8,0), (5,0) and (8,4).
26.3f¢ fa=gatl (—2, 3) 3R (x,y) & e arel vEaRIvs & 7eg a5 &
e (0, 4) © a1 e g (x, y) o1d H |
If the co-ordinates of mid point of the line segment joining the points
(—2,3) and (x, y) be (0, 4) then find the required point (x, y).
27.9 fog 9 famg (-5—12). #1 g = @ |
Find the distance of the point (=5, —12) from the origin.
28.11E WX b gV (7,10), (—2, 5) AT (3,—4) FHDIT FAlGATE e
CaNILES
Show that the points (7,10), (—2,5) and (3, —4) are the vertices of a

right isosceles triangle.
29.f8g (—2,7) 3R (4, 5) BT AT aTell YI@RAvS g &1 AN &, dI gd

b B B HAHD AT DY |

Line segment joining the points (—2,7) and (4, 5) be the diameter of

the circle then find the co-ordinates of the centre of the circle.

30. x T A4 AT BN 9 b AU (—3,12), (7.6) 3R (x.a) U& Waw
g |
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Find the value of x so that the points (—3,12), (7,6) and (x, a) are

collinear.

e IR 99/ Long Answer Type Questions

7o TeT 31 W 38 A STIT F5T & | §79 W 58l 4 7971 & GV G /
qh Fo7 & o7 4 3 [FERa 8/ 4x5=20

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions. Each

question carries 5 marks. 4x5=20

31.8 &1 g erofafeoy kil a7 cosecd & ®U H Fdd B |

Express each of the trigonometrical ratios of 8 in the form of cosecé.

32. oo st 5 sinf + 12cosO &1 gIdq Td He<H AT
frepTef |
Find the minimum and maximum value of the trigonometrical
expression 5 sinf + 12cos0.

33.9f¢ foodll ST ABCH A:B:C=1:2:3AqTa:b:c A & |
Ifin triangle ABC,A: B:C=1:2:3thenfinda: b : c.

34.R1g X & sin 20° sin 30° sin 40° sin 80° =1—‘/§

3

Prove that sin 20° sin 30° sin 40° sin 80° = v

35.sin560 @ sinf ® Uai § Fad HITT |
Express sin 50 in terms of sinf.

36.U% UBTS! &l RIER ¥ &1 oRaR fheiiiier i dTel TR &l
JIATHT PIOT HHL: 450 3R 300 B O USTS! &l &dTs S BN |
(SiEf V3 = 1.732)
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From the top of a hill, the angles of depression of two consecutive
kilometre stones are found to be 45° and 30° respectively then find
the height of the hill. (use V3 = 1.732)

37. afs fagU A(1,-2),B(2,3),C(—3,2) T D(—4,—3) FARR
IgHSt ABCD & 2 81 a1 AB &1 IR AMSR FATR A9l DI
REIEINICAd
If the points A(1,—2),B(2,3),C(—3,2) and D(—4,—3) are the

vertices of a parallelogram ABCD then considering AB as the base

find the height of the parallelogram.

38.3fq fag¥ (3,—-2),(—3,1) T (4,—3) B ABC & YoI{ BC,CA
dm AB & % Heg fag0 & O B ABC & 2wl & fcene o
|
If the points (3,—2), (—3,1) and (4,—3) be the mid points of the
sides BC, CA and AB respectively then find the co-ordinates of the

vertices of triangle ABC.
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